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1 Wil 6-10 6.9-94 8.7 I
2 e (mg/l) 100 20 - 6 374 A
B RR Y HE L (mg/l) 10 <l-24 13 =
i B RE L (mg/) 2000 500 - 1700 1197 it
AL (mg/l) 10 <0.5 -39 0.8 I
MACYI R (mg/) 0.1 <0.04 - 0.06 0.05 =
REVPISH S R (mg) | 100 <15- 55 06 I
i iE (mg/) 20 <15-17 153 &
i} ME T (mg/) 0.5 <0.3 <03 i
VR R (me) I <06 <06 =
MG PR (mg/) 15 <3-45 3.3 &
A AR B (mg/l) 200 35- 150 74.7 =
i (0 43 21-23 217 i
YA SRR | B g LR | e L R =
fiff - (mg/l) 2 <0.4 <0.4 it
1 (mg/) 5 <l <l e
R (mg/l) 0.1 <0.1 <0.] Y
% (gl | <0.3 <0.3 &
i (mg/l) 2 0.6-1.7 1.1 it
5y (mefl) 2 <! <l il
Sk (mg/l) 5 <0.2 <0.2 e
7 (mg/l) 0.05 <0.05 <0.05 i
8 (g 2 <l-1 1.0 &
R (mg/l) 2 <0.4 <04 b
P (mg/) 5 <1 <l i
5t (mgl) 2 <l <l &
A9 i <5 1B 8 E# (me/) 10 <7.0-8.1 76 =
il (mgh) N 5 <1.0-20 1.3 1
# (mg/) 10 <2 <2 s
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Aldrin (mg/D) 0.01 <0.01 <0.01 Jit:
BHCS (mg/h 0.01 <0.01 <0.01 i
WAL (mgh) 0.01 <0.01 <0.01 N
dER i (A A
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KL (me/D) 0.1 <0.1 <0.1 e
A S AR/
L1L,I-=8 O bE e
(mg/D) 0.05 <0.05 <0.05
% LA
EAON I E ki &
(mg/D) 0.003 <0.003 <0.003
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(pc/) 10000 <10000 <10000
$f-226 (pc/) 30 <30 <30 s
$2-90 (pc/1) 100 <100 <100 i
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(mg/m) 25 <0.5 I
M I (LAt R af 51)

(mg/m’) 100 14 o
TR (mg/m) 750 6.4 B
B (mg/m’) 38 27 B
B R (LB A 5T

(mg/m’) 7.5 <0.1 &
AL (mg/m?) 7.5 <0.4 2
PR (mg/m’) 7.5 <1.3 2
A7 1 BB G — ¥ -

K (mg/m’) 3 <0.001 7
§R_(mg/m’) 3 <0.002 5
8 (mg/m’) 3 <0.005 B
HirEBCE XD .

1 (mg/m’) 10 <0.005 e
1 (mg/m’) 10 <0.005 2
o (mg/m’) 10 <0.001 R
# (mg/m) 10 <0.005 B
§& (mg/m’) 10 <0.002 £
o — R 5 44T 1

G #E i (mg/m) 10 <0.026 2
IS (ng/m) 0.1 0.0002 2
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[Tl (%) |30 (e AR

1%) 57-98 69.8 5
AT 1< M
$ (ppm) 0.5 <0.5 <0.5 HE
A (ppm) 0.1 <0.02 - 0.05 0.02 Es
G 8 At (ppm) 10 <0.5-09 0.5 =
A1 (ppm) <0.5-3.0 0.6 -
$% (ppm) <05-1.2 0.5
# (ppm) <1-34 1.1
§¥ (ppm) <0.5-59 1.5
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# & (ppm) 25 <25-82 3.8 &
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